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2 Marks Questions (2 eÖsÁTØ\ ç|�Xø�\T)

1. What are the Basic industries? Give an example.
eTò*¿£ |�]çXøeT\T n+fñ @$T{ì? ÿ¿£ �<�V�²sÁD �eÇ+&�.

2. What are the Agro-Based industries? Give an example.
e«ekÍjáÖ<ó�]Ôá |�]çXøeT\T nq>± Hû$T? ÿ¿£ �<�V�²sÁD �eÇ+&�.

3. Define the Mineral-based industries? Give an example.
K�C²<ó�sÁ |�]çXøeTqT �sÁÇº+#á+&�? ÿ¿£ �<�V�²sÁD �eÇ+&�.

4. What is manufacturing?
�Ô�Î<�¿£Ôá n+fñ @$T{ì?

1 Mark Questions (1 eÖsÁTØ ç|�Xø�\T)

1. Find out which is not related  to  Agro-based Industries? ( )
A. Sugar B. Rubber C. Cement D. Coffee

ç¿ì+~ y��ýË e«ekÍjáÖ<ó�]Ôá |�]çXøeT¿±�~.
m. |�+#á<�sÁ _. sÁ�ÒsÁT d¾. d¾yîT+{Ù &�. ¿±|�Ó

2. In which of the following state Kalpakam Nuclear power plant located?  ( )
A. Kerala B. Tamilnadu C. Delhi D. Sikkim

� ç¿ì+~ @ s�h+ýË »»¿£\Î¿£+ nDT $<�T«ÔY ¿£s��>±sÁ+µµ ¿£\<�T? ( )

m. ¹¿sÁÞø _. Ôá$TÞøH�&�T d¾. &ó�©¢ &�. d¾¿ìØ+

3. Which industry uses Bauxite as a raw meterial.

@ |�]çXøeTýË u²Â¿Õà{ÙqT eTT&� d�sÁTÅ£�>± �|�jîÖÐkÍïsÁT?

4. Which one of the following industries manufacture telephones, computers etc..

A. Steel B. AluminiumSmelting ( )

C. Electronic D. Information Technology

¿ì+~ y�{ìýË fÉ*b�þH�\T, ¿£+|�P«³sY\T yîTT<�ýÉÕq y�{ì� ÔájáÖsÁT #û�d |�]çXøeT @~?  (   )
m. �Å£�Ø _. n\Ö«$T�jáT+ �d�*¼+>´

d¾. mý²ç¿±¼�¿ù &�. d�eÖ#�sÁ kÍ+¹¿Ü¿£Ôá

6. Manufacturing Industries
�Ô�Î<�¿£ |�]çXøeT\T

SCERT, A
P

State Council of Educational Research and Training                                                                      Andhra Pradesh

                                    



MODEL QUESTIONS - SOCIAL-GEOGRAPHY X-CLASS

150

5. Expand BHEL?
BHELqT $d�ï]+|�ÚeTT?

6. Expand  TISCO?
TISCOqT $d�ï]+|�ÚeTT?

7. Which city is called “Electronic Capital of India.”?
uó²sÁÔá<ûXø mý²ç¿±¼�¿ù s�È<ó�� n� @ q>·s��� |¾\TkÍïsÁT.

8. Which city is called “Silicon city.”?
»»d¾*¿±H� d¾{¡µµ n� @ q>·s��� |¾\TkÍïsÁT?

9. Expand  NALCO?
NALCO qT  $d�ï]+|�ÚeTT.

10. Based on raw material, Jute is example of __________ Insustry.    ( )
A. Agro-based B. Mineral-based C. A and B D. Non of the above
eTT&� |�<�s��+ �<ó�sÁ+>± Èq|�H�sÁ _____________ |�]çXøeTÅ£� #î+<�TqT?

m. eÇjáTkÍjáÖ<ó�]Ôá _. K�È �<ó�]Ôá

d¾. m eT]jáTT _ &�. �|ÕyûM¿±eÚ

11. Salem : Tamil Nadu : : Bhadravathi : _____________
�d\+ : Ôá$TÞøH�&�T : : uó�ç<�eÜ : _____________

12. Edible Oil : Agro-based industry : : Cement Industry : ______________
e+³ qÖHî : e«ekÍjáÖ<ó�]Ôá |�]çXøeT : : d¾yîT+{Ù |�]çXøeT : _____________

13. Find the odd one.
Bokaro Jaipur Rourkela Durgapur
yûsÁT>± �q� <��� >·T]ï+#á+&�.

u¤¿±sÃ CÉÕ|�PsY sÁÖÂsØý² <�Ts�Z|�PsY

14. Which is called “Golden Fibre”?
»»�+>±sÁT |Ó#áTµµ n� <û�¿ì �|sÁT?

15. Which was the first successful textile mill established in India?
yîTT<�{ì>± kÍ�|¾+#á�&�q $ÈjáTe+ÔáyîT®q �³¼\ $T\T¢ @~?
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